[image: image1.png](a) Are the following statements TRUE or FALSE?

Accountants have no duty to act in the public interest provided they act
inthe interests of their employer and the accountancy profession

The Code of Professional Ethics provides detailed rules on how to act
in every possible situation that an accountant might encounter.

Ethics are based on values, which are demonstrated in behaviour. Sometimes there is conflict between
personal and organisational values which needs to be resolved.

‘An accountant personally values loyalty and faimess highly, and s employed by a large organisation.

(b) In the table below identify where there is conflict between the organisation's behaviour and the
‘accountant's personal values.

Gives long-standing employees an extra half day's Logat
holiday for every two years they remain with the organisation. | /3%

Promotes employees on the basis of family or other
close relationships.

Faimess [es
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Task 1 (continued)

[image: image2.png]An accountant has been offered gifts by the sales manager of one of his employer's main suppliers. The accountant
has known the sales manager for several years.

(c) Complete the following statement.

Being offered gifts by the sales manageris [afamiarty treat Rl to the accountant's
fundamental principle of [objecivy ¥}

An accountant works for a large company. A potential customer of the company has asked the accountant to reveal
confidentialinformation aboutthe company's cost structure and pricing strategy. The potential customer has offeredto
pay the accountant fo this information

(d) Are the following statements TRUE or FALSE?

‘The accountant may never disclose confidential information to any
third party.

‘The threat that the accountant s facing to her compliance with the
fundamental principles is a selfinterest threat.

‘The accountant must resign immediately from the company as her
integrity has been compromised by the offer from the potenial customer.





Task 1 (continued)

[image: image3.png]‘An accountant s following the conflict resolution process in the Code of Professional Ethics in respect of an ethical
dilemma atwork He has collected evidence and documented the process carefully so he can seek guidance on the.
dilemma from anther accountant.

(€) Complete the following statement.

In relation to the evidence and documentation the accountant must be pariicularly careful to ensure the fundamental

principle of [confidential T is not reached when seeking guidance.

An accountant has a dlient who has been involved in concealing criminal property. The accountant has reported the.
client o the relevant authority, and has told the client of this.

() Complete the following statement.

‘The accountant has committed the criminal offence of [ipping of. %]

An accountantis a sole practitioner. She has discoveredthat a client has been money laundering.

() Complete the following statement.

‘The accountant should disclose confidential information on this matter directlyto. [ine National Crime Agency. ¥}





Task 3 (14 marks)

[image: image4.png](a) Use the chart to determine the following budaeted figures for the year to 31 December 20X7.

() Break-even sales volume (units).  [12000 sinks
(@ Break-even contribution: £ [500000
(@) Profitforthe year: £ [400000
(i) Wiargin of safety (units): 000 sinks





[image: image5.png](b) Calculate the following actual figures for the year to 31 December 20X7.

@ Total variable cost £ [2320000
(@ Total fixed cost £ [538000
(@) Total contribution £ [380000
() Profitforthe year £ [242000





Task 3 (continued)

To: Lakmani Moore <Lakmani.Moore@BLMCo.co.uk>; Brian Moore <Brian.Moore@BLMCo.co.uk>
From:  Sam Jones <Sam.Jones@BLMCo.co.uk>

Date: 31/1/X8

Subject:  Performance of BLM & Co in 20X7

1. The budgeted profit for the year was £400,000, whereas the actual profit achieved was only £242,000.

2. The revised break-even volume, using the actual figures, is 14,500 units. 

Working:

Contribution per unit = £880,000/20,000 units = £44 per unit 

Break-even sales volume = Fixed costs/Contribution per unit: £638,000/£44 = 14,500 units 

3. The actual profit is much lower than expected, even though the budgeted volume of 20,000 units was achieved. 

The actual break-even point of 14,500 units is higher than budgeted at 12,000 units and has been affected by the following changes compared to the budget:

(i) Increased fixed costs, which have risen from £600,000 to £638,000 

(ii) Reduced contribution per unit has increased the break-even volume required. Budgeted contribution per unit was £600,000/12,000 units (or £600,000 FC + £400,000 profit/20,000) = £50 per unit, compared to actual contribution of £44 per unit. 

The reduced contribution per unit compared to the budget has been caused by a reduced selling price per unit (budget £3,400,000/20,000 = £170, actual £3,200,000/20,000 = £160), offset by a reduced variable cost per unit (budget (£3,000,000 - £600,000)/20,000 = £120, actual £2,320,000/20,000 = £116)

Task 7 (10 marks)
[image: image6.png]) c )
n for year ended 31 December 20X8

Month
January
February
March
April

May

June

July
August
September
October
November
December

Brian
£420.00
£920.00

£1,072.50
£945.00
£888.00
£768.51
£835.05

£0.00
£729.50
£780.00
£645.00
£562.50
£8,586.06

Commission

Lakmanil
£540.00|
£855.00|
£920.00|
£896.25|
£962.00|
£870.00|
£615.00|
£840.00|

£0.00|
£859.14)
£698.10|
£432.91)
£8,500.40]





Task 7 (continued)
[image: image7.png]2 Brian Lakmani _ Total
25 profit for the year £250,000)
-Salzlv £25,000 £25,000|
7 Interest on drawings -£300 -£150 £asol

28| Commission £8,58 £8,500 £17,086]

29/ Residual profit available for appropriation £208,394)

30 profit share £1250% 83,7 £208,390]
31 Total amount distributed to eachpart___£133,322 __£116,678 £250,000
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34 (c) Partnership appropriation statement after Goal Seek for year end 31 December 20X8
35 Brian Lakmani_ Total

36 Profitfor the year £258,305)

37 Salary £25,000 £25,000)

38 Interest on drawings -£300 -£180 -£4s0)

33 Commission £8,58 £8,500 £17,086]

40/ Residual profit available for appropriation 216,659

41 rofit share £130015 86,680 £216,659|

42 Total amount distributed to each part___ €138,305 ___ £120,000 £258,305
]





Task 7 (continued)
[image: image8.png]© Partnership appropriation after Goal Seek for year end 31 December 20X8

Brian Lakmani Total |
Profit for the year | ______£250,000i
Salary £25,000 £25,000
Interest on drawings -£300 -£180 -£480
Commission £8,586 £8,500 £17,086
Residual profit available for distribution £208,394
Profit share £125,036 £83,357 £208,394
Total profit appropriated to each partne £133,322 £116,678 £250,000
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